FHOKEHERBRER

HiERE - BlERE - BIEEE
FH A it%/\‘?’jy/‘f%ﬁ%i‘ﬁﬁtﬁ&%%i 1337 iiﬁﬂ‘&i%l AFE— ff"ﬁ%%’?% 0400400
FTE H | R TEEET758-41 EE04ATE- 24~ 1747
wemmE [ LIS A 2201 (GEEBIC LS EEEORBHERR ) X5,
FHEECEINOBEE, HLohLHEIE L,f:?ﬁﬂft’%% L THF-o,
HMEZEE 7A=F 2705 X+ KNS-50000C
A B AK 2005 4E 9 H 17TH 138 Ao~ 140 5E T
ES & | mEh A b0 m/s (BEN
i 27.2 T BB (R B
I E%ﬁ B ! @wu%ﬁﬁ) ( %L
FLEIEBE | 95 0 C BB EE (%)
& H —hPa (&E)*
W OoE M 1 2 3 4 5 6 7
FENE AP (Pa) 19.3 | 27.0 | 36.2 | 45.8 | 52.7
ARE L Q (m* b 212 272 323 405 426
FRFEISEHEE i n (1= n=2) n= t.41
HEE(AP =1 PalrEEE) 12 la= 25.8 mé/h - Pavn
AP =908PaloBITHBEE | Qs Qrs= 130.9 m*/h
#% b b=0627a"2= ¢, g72
BHAMEEEE . cA (cmd aA=Qusxb= 88 cm?
AHEBREER C em> m?) C=aA/S= o8 em?/m?
BE S0PaORAEE  ACH(E/L) | ACH= /h (4P =50 PaBfERE  méh)

B E A R

* (_Z;-:;% T 5’75 &)Z) eA’cinL)\TE)




